fs By X
488
F—L% |SHTWE—D| ERRZ Taqo)2 [J\BTRER| BB | B K| = |[IEA
P 3-0 P 0-3 P 2-1 fgsBR 2-1 1
IHTnE— No.1 6-0 No.1 1-6 No.1 61 (PSS - )
? Nod 6-4 [No2d 26 [Nod 3-6 |[#xr—s| -
Nod 6-4 |[Nod 1-6 [No.J  6-1 -
P 0-3 P 0-3 P 1-2 fgsBR 0-3 -3
ey No.l  0-6 Nol 2-6 |No.d| 6-3 [@xtrr| - .
No.Zd  4-6 No.d 1-6 |No.d 66-7 [Bxr—ni -
No.d  4-6 Nod 2-6 [No.J 3-6 -
P 3-0 P 3-0 P 3-0 R BR 3-0 3
SaATL2 No.1 6—1 No.1 6—2 No.1 6-3 BERRIUE - 1
No.2 6—2 No.2 6—1 No.2 6-0 Bxy—LA -
No.d 6-1 [No.J 6-2 No.d 6-2 -
P 1-2 P 2-1 P 0-3 fgsBR 1-2 -1
J\iEF=2x [No.1 1-6 No.1 3-6 No.1 3-6 BRRAUL -
kS NoZd 6-3 [Nod 7-60 [Nod 0-6 dxr—L| - ]
Nod 16 |[No.d 6-3 [No.3 2-6 -




B By *X
5ER
F—L4 EREH *F/EA WIZARD FILD7 B |8 % | = (e
P 1-2 P 0-3 P 1-2 f%5 B 0-3 -3
_ No.1 2-6 No.1 1-6 No.1 1-6 BRI -
== 4
NoZd 6-2 [NoZd 1-6 |[No2qd 0-6 |[Bxr—-1 -
Nod 36 [Nod 06 [No3d 6-0 -
P 21 P 1-2 P 2-1 f%5 B 21 1
. No.1 6—-2 No.1 6—-2 No.1 7-6(5) BERIUE -
X/EA 2
No.2 2—6 No.2 1-6 No.2 2-6 Bxs—L -
No.3d  6-3 Nod 26 |[No3d 6-2 -
P 3-0 P 2-1 P 3-0 f%5 B 3-0 3
No.1 6—1 No.il 2-6 No.1 6—1 BEAA -
WIZARD 1
No.2 6-1 No.2 6-1 No.2 6-0 Bxs—L -
No3d 6-0 |[No3d 6-2 No.d 6-3 -
P 21 P 1-2 P 0-3 f%5 B 1-2 ~1
No.1 6—1 No.1 65)-7 |No.1 1-6 BERAUE -
TILI7 3
NoZd 6-0 [No2d 6-2 |No2d 0-6 B —L -
Nod 06 [No3d 26 |No3d 3-6 -




i B

6N
F— LA INDIV BIIF=245JR| AYIUIT.C. |[BLF=2450| BEE | & % | = |Em
P P P i 10 -
INDIV No.1 No.1 No.1 Rk - \
D No.2 No.2 No.2 By — L -
No.3 No.3 No.3 -
P P 0-3 P 2-1 R BR 1-1 0
%UJ?—:X No.1 No.1 3-6 No.1 6-2 BERIUL - )
957R  INo2 No?d 26 [Nod 6-4 [@xr—u| -
No.3 No.3 1-6 No.d 67 -
P P 3-0 P 3-0 R BR 2-0 2
Az, [Nod No.1 6-3 No.1 6-1 EESE TS - 1
T.C. No.2 Nod  6-2 Nod 6-1 [@xr—n| -
No.3 No.3 6—1 No.3 7-5(5) -
P P 1-2 P 0-3 R BRC 0-2 )
B|57=Xx [No.1 No.1 2-6 No.1 1-6 BRI - 3
930 No.2 NoZd 4-6 [NoZ 0-6 axr—L| -
No.3 No.d 7-66) [No.3J 2-6 -

XINDIVIZZ BASMICL5EHE




iy B *
7R
F—L% FAIN—X 03473 RYAVTC ER=L BEE |8 % | = [Ew
P 3-0 P 1-2 P 3-0 fgsBR 2-1 1
N No.1 6—0 No.1 2—6 No.1 6-0 BERIUL - )
Nod 6-0 |No2 1-6 [Noq 6-0 [@xr—s -
Nod 6-0 [Nod 6-4 [No3 6-1 -
P 0-3 P 0-3 P 0-3 L0 0-3 | -3
D3MIL3 INot|  0-6 Noi 06 [Noi| 0-6 [msren| -
e No.2 0-6 No.2 0-6 No.2 0-6 Bky— LI - *
No.d 0-6 Nod 06 |Nod 0-6 —
P 2-1 P 3-0 P 3-0 R BR 3-0 3
NUBTC No.1 6—-2 No.1 60 No.1 6—1 BERRIUE - 1
No.2 6—1 No.2 6—0 No.2 6-0 Bxy—LA -
No.d 46 [No.J 6-0 No.d  6-2 —
P 0-3 P 3-0 P 0-3 fgsBR 1-2 -1
ERAL No.1 0-6 No.1 6—0 No.1 1-6 BERIUL - 3
No2 06 [No2 6-0 [No2 0-6 BET— L -
Nod 16 [Nod 6-0 [No3 2-6 -

XM IL3IE, KESMBEE /=S >I==F—TUHE




